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Model Test 5

PAPER ONE
TIME LIMIT: 95 MIN.

e
Part | Listening Comprehension (40 minutes)
In Sections A, B and C you will hear everything ONCE ONLY. Listen carefully and then answer the questions
that follow. Mark the correct response for each question on your Coloured Answer Sheet.
Section A Talk
Questions 1 to 5 refer to the talk in this section. At the end of the talk you will be given 15 seconds to answer each
of the following five questions.
Now listen to the talk.
1. What does the writer say about animals?

A) Apes can reason while monkeys can’t. B) Some animals can reason.

C) No animals is capable of reasoning. D) All animals solve problems by instinct alone.
2. In the experiment, the monkey reached the banana by ___

A) piling up objects and standing on the top one B) climbing up a rope

C) climbing up two small packing D) trying various ways till he found the right one
3. The experiment showed that the monkeys

A) can pile boxes one on top of the other B) learn to solve problems enly by experience

C) think out how to solve a problem 13} learn to solve problems only by memory

4. What dic the writer discuss afterwards?
A) Whether apes reason more quickly than monkeys.
B) Whether monkeys can perform actions with a real purpose.
C} Whether dogs have good memories.
D) Whether dogs are able to reason in the same way as monkeys.
5. From the passage, we can learn that
A) dogs reason more quickly than monkeys
B) the intelligence of dogs is more a matter of memory than of reasoning
C) dogs never remember what they have done
D} dogs remember very little

Section B Conversation

Questions 6 to 10 are based on the conversation. At the end of the conversation you will be given 15 seconds to an-
swer each of the following five guestions.

Now listen to the conversation.

6. Lesley says some drugs do .

A) harm that cannot be repaired B) harm because they are more powerful these days
C) damage that can be repaired D) harm because they are legalized
7. The 16-year-old kid is afraid of .
A) being a problem to the society B) being squashed
C) 1aking drugs D)) becamning an crange

8. Legalizing cannabis would be unwise as it is .
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A) proved to be more harmful than tobacce B) already so widespread

) not known whether it may be harmful or not D) proved to be positively harmful
Y. Lesley feels it is the job of the young generation to .

A) reject all values B) be hostile to society

() reject the values of their elders D) disregard the values of cthers
10. Mzny young people take drugs because X
A) of their curiosities about drugs B) they want to escape their own weaknesses
C) they wam to face right up to themselves D) they have supgrficial personalities

Section C  News Broadcast
Questions 11 to 14 are based on the following news. At the end of the news item, you will be given 15 seconds to an-
swer each of the following guestions.
Now listen to the news.
11. Werld telecommunication is a
A) global electronic media B) global sporting event w
CY world electronic inventicn D) world electronic exhibition .

12, World telecommunication exhibition happens every

A) vear B) two years C) three years D) four years
13. The latest exhibition openec .

A) in Geneva, October 13 B) in Geneva, October 3

C) in Jamaica, October 13 D) in Jamaica, Ocicber 3
14, would be present and speak at the opening ceremony.

A} President Mandela B) UN project manager Lily Riesen

) The minister of Switzerland D) None of the above.

Question 15 is based on the following news. At the end of the news item, you will be given 15 seconds to answer the
question.
Now listen to the news.
15. One of the big questions is that . "
A) how many members of the US House of Representatives are chosen
B} how many members of the US Congress and senate
C} which party will control the Senate after today’s voling

D) which party will control the election day’s voting

Section D Note-Taking & Gap-Filling

In this section you will hear a mini-lecture. You will hear the lecture ONCE ONLY. While listening to the lec-
tare, take notes on the important points. Your notes will not be marked, but you will need them to complete a 15-
minute gap-filling task on ANSWER SHEET ONE after the mini-lecture. Use the blank paper for note-taking.

“Popular” means “_ (1) " 10 and desirable to large numbers of people, and “art” means such things as ) ,
film, __(3) and thelike. Only since the early _ (4)  century has technology been able to provide two necessary
factors for the wide __(5)  of arts. To be popular, products must be produced in virtually, _ (6)  numbers at a
low cost. And secondly, products must be transmitted to large number of people  (7)

Before about 1830, most printing was done by __(8)  press. The  (8)  press was invented in about 1830.
This cylinder press was attached to a __(10) _ engine. Instead of producing __ (11}  copies an hour by press, a
cylinder press could produce _ (12}  impressions in an hour. And today, we have _ (13)  and computer typeset-
ting and w0 on. At the same time, _(14)  making process in the early 19th century were improved. People began to use
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pulp and _(15) , so that _ (16) _ paper became cheaper. Machines were made to gather. All these provesses

were  (17)  processes and _ (18) by about 1870 or 1880. Meanwhile, methads were developed of  (19)
and later of _ (20} processes. All this had great impact or arts.

Part 1 Proofreading and Error Correction (15 minutes)
The following passage contains 10 errors. Each indicated line contains a maximum of one error. In each case.
only one word is involved. You should proofread the passage and correct it in the following way:
For a wrong word underline the wrong word and wnite the correct one in the blank provided at the
end of the line.
For a missing word mark the position of missing word with 2 “ A" sign and write the word you be-
lieve to be missing in the blank provided at the end of the line.
Fer an unnecessary word cross the unnecessary word with a slash “\ " and put the word in the blank pro-
vided at the end of the line.

EXAMPLE ~
When A art museum wan:s new exhibit, it 1. an

never buys things in finished form and hangs them 2, Tfever

on the wall. When a natural history museum 3,

wants zn exhibition, it must often build it. 4. exhibit

The biclogical sonar, or echolocation, of bats and the number of other 1
animals is one of nature’s great ingenuities . As a mean of perceiving the 2
scene by bouncing high-frequency sounds off objects, it interests scientists in 3.
many disciplines. Echolocation serves the bat a substitute for vision in the per- 4
ception of near and moderately near objects, direction, and motion—by sensing
the way which the objects modify the sonar signals reflected back tc the bat. The 5
sounds emitted by bats for echolocation differ from according to the species and 6
the situation, so as it is not usually possible to specify a single, particular signal asthe 7.
characteristic orientation sound of a given species. Moreover, enough useful general- 8
izations arise from the datum now available to permit a unified, if preliminary, 9

view of the operation on bat echolocation systems. 10.
Part I Reading Comprehension (40 minutes)
Section A Reading Comprehension (30 minutes)

In this section there are four reading passages followed by a total of fifteen multiple-choice questions. Read the
passages carefully and then mark your answers on your Colored Answer Sheet.

TEXT A

There are exceptions to the rule of male insects being smaller than the females, and some of these exceptions are
intelligible. Size and strength would be an advantage to the males which fight for the possession of the females, and
in these cases, as with the stag-beetle { Lucanus), the males are larger than the females. There are, however, other
beetles which are not known to fight together, of which the males exceed the females in size, and the meaning of this
fact is not known, but in some of these cases, as with the huge Dynastes and Megasoma, we can at least see that
there would be no necessity for the males to be smaller than the females, in order to be matured before them, for
these beetles are not short-lived, and there would be ample time for the pairing of the sexes.
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16. According to the author __
A) male insects are always smaller than females
B} in a given species nature provides differences between sexes to insure successful reproduction
) size and strength protect females from other females
D) longevity is characteristic of the Dynastes and Megasoma
17. Where male beetles are smaller than female beetles, it is because
A) they have to fight for their mates B) they are more intelligent
) they are ephemerel creatures D) there is am;?,e time {or mating
18. The paragraph preceding this one probably _
A) discusses a generalization about the size of animals
B} develops the idea that male insects do not live long after maturity
C} discusses miale and {ernale beetles
D) emphasizes that beetles are belligerent animals

| TEXTB |

In mnost cormers of the world malnutrition is plainly a matter of outright insufficiency of food for the population—
where the majority of the people do not obtain enough food calories 10 meet minimal needs fer support of physical
work and for maintenance of health. Elsewhere the problem may be not one of insufficient calories but of lack of spe-
cilic nutrients essential for health.

In Latin America, as in other places, the dread procin deficiency disease kwashiorkor is taking its heavy toll of
children’s lives. Strategic vitamins and minerals may be lacking due 1o traditional diets which are nutritionally unbal-
anced. Here people continue their eating pattern year after yzar without knowledge of what their dietary habits are
dung 1o themselves and to future generations.

With a basic knowledge of nutritional needs and deficiencies, efforts could be directed 1o finding food substitutes
which could meet these needs. Mixtures of vegetable proteins, like scybeans and peanuts, could provide an abun-
dance of cheap, useful protein where meat, eggs, and milk are not within economic reach of large groups in the pop-
ulation. Efforts could also be expended on increasing the agricultural productivity in specific regions; where large ar-
eis are given over 1o relatively inefficient use as grazing land, the intensive production of vegetable protein crops could
bring remiedial nutrition to an undernourished population. Elsewhere, enrichment with specific vitamins and minerals
of traditional staple foods that are deficient in essential nutritive factors could wipe our diszbling deficiency diseases,
like beriberi or pellagra, almost overnight. Similarly, addition of minute amounts of inexpensive iodine 1o salt could
benefit large areas where endemic goiter has been accepted as an integral pan of life for generations.

19. Viiamin deficiencies cause .
A) kwashiorkor B) pellagra ) goiter D)} lack of calories

20. Cheap protein substitutes for milk, eggs, and meat

A) may bhe obtained from vitamins and minerals B) are being sought by scientists

('} can be gotten from soybeans D) can be found in iodized salt
21 In the last sentence, the word which best indicates the frequency of occurrence of goiter is __

A) endemic B) inexpensive C) minute D) similarly
22, The title that best expresses the ideas of this passageis .

A) Science and Agriculture B) Eliminating Starvation

C) Improving Our Diet D) Combating Malnutrition

" TEXTC |

Archacology as a profession faces two major problems. First, it is the poorest of the poor. Only paltry surms are
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available for excavating and even less is available for publishing the results and preserving the sites once excavated.
Yet archaenlogists deal with priceless objects every day. Second, there is the problem of illegal excavation, resulting
in museurn-quality pieces being sold to the highest bidder. |
I would like to make an outrageous suggestion that would at one stroke provide funds for archaeclogy and reduce
the amount of illegal digging. T would propose that scientific archeological expeditions and governmental authorities
sell excavated artifacts on the open market. Such sales would provide substantial funds for the 2xcavation end preser-
vation of archaeological sites and the publication of results. At the same time, they would break the illegal excavator’
s grip on the market, thereby decreasing the inducement to engage in illegal activities,
You might abject that professionals excavate to acquire knowledge, not money. Moreover, ancient artifacts are
part of our global cultural heritage, which should be available for all to appreciate, not sold to the highest bidder. 1 a- .
gree. Sell nothing that has unique artistic merit or scientific value. But, you might reply, everything that comes ou: !
of the ground has scientific value. Here we part company. Theoreticallv. you mav be correct in claiming that every
artifact has potential scientific value. Practically, you are wrong.
I refer 1o the thousands of pottery vessels and ancient lamps that are essentially duplicates of one angther. Ar-
chaeologists recently have uncovered 2 000 virtually indistinguishable small jugs in a single courtvard in one small ex-
cavatior in Cyprus. Even precious royal seal impressions known as melekh handles have been found in abundance:
more than 4 000 examples so far.
The basements of museums are simply not large enough 1o store the artifacts that are likely to be discovered in
the future. There is not enough money even to catalogue the finds: as 2 resulr, they cannot be found again and he
come as mnaccessible as if they had never been discovered. Indeed, with the help of a computer, sold artifacts could be
more accessible than are the pieces stored in bulging museum basements. Prior to sale, each could be photographed
and the list of the purchasers could be maintained on the computer. A purchaser could even be required to agree to re.
turn the piece if it should become needed for scientific purposes.
It would be unrealistic 1o suggest that illegal digging would stop if artifacts were sold an the open market. But the de-
mand for the clandestine product would be substantially reduced. Who would want an unmarked pot when another was avail-
able whose provenance was known, and that was dated by the professional archaeclogist who excavated 1t?
23. The primary purpose of the passage is to propose
A) an alternative to museum display of artifacts
B) a way to curb illegal digging while benefiting the archaeclogical profession
C) a way to distinguish artifacts with scientific value from those that heve no such value
D) the governmental regulation of archaeological sites
24, Which of the {ollowing is menticned in the passage as a disadvantage of sioring artifacts in museun basement?
A) Museumn officials rarely allow scholars access to such artifacts.
B) Space that could be better used for display is taken up for storage.
C) Such artifacts are often damaged by variations in temperature and humidity.
D) Such artifacts’ often remain non-catalogued and thus cannot be located once they are put in storage.
25. The author mentions the excavation in Cyprus to emphasize which of the following points?
A) Ancient lamps and potlery vessels are less valuable, although more rare, than royal seal impressions.
B) Artifacts that are very similar to each other present cataloguing difficulties to archaeclogists.
C) Artifacts that are not uniquely valuable, and therefore could be sold, are available in large quantities.
D) Cyprus is the most important location for unearthing large quantities of salable artifacts.
26. The author anticipates which of the following initial objections to the adoption of his proposal?
A) Museum officials will become unwilling to store artifacts.
B) An oversupply of salable artifacts will result and the demand for them will fall.
C) Artifacts that would have been displayed in public places will be sold to private collectors.

D) Illegal excavators will have an even larger supply of artifacts for resale.
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27. The author implies that which of the following would occur if duplicate artifacts were sold on the open market?
A) lllegal excavation would evenally cease completely.
B) Cyprus would become the primary source of marketable duplicate artifacts.
C) Archaeologists would be able to publish the results of their excavations more frequently than they currenty do.
2) Both A} and C).

TEXT D i

The fact that superior service can generate a competitive advantage for a company does not mean that every at-

L]

tempt at improving service will create such an advantage. Investments in service, like those in production and distni-
bution, must be balanced against other types of investments on the basis of direct, tangible benefits such as cost re-
duction and increased revenues. If a company is already effectively on a par with its competitors because it provides
service that avoids 2 damaging reputation and keeps customers from leaving at an unacceptable rate, investment in
higher service levels may be wasted, since service is a deciding factor for customers only in extreme situations.

This truth was not apparent to managers of one regional bank, which failed to improve its cc‘;mpetitive position
despite its investment in reducing the time that a customer had to wait for a teller. The bank managers did not recog-
nize the level of customer inertia in the consumer banking industry that anises from the inconvenience of switching
banks. Nor did they analyze their service improvement to determine whether it weuld attract new customers by pro-
ducing a new standard of service that would excite customers or by proving difficult for competitors to copy. The only
merit of the improvement was that it could easily be described to customers.

28. The primary purpose of the passage is to

A) contrast possible outcomes of a type of business investment

B) suggest more careful evaluation of & type of business investment

) illustrate various ways in which a type of business investment could fail to enhance revenues

D) trace the general problems of a company (o a certain type of business investment
29. According to the passage, investrnent in service are comparable to investments in production and distribution in

terms of the

A) tangibility of the benefits that they tend to confer

B) increased revenues that they ultimately produce

() basis on which they need to be weighed

D) insufficient analysis that managers devote 1o them
30. The passage suggests which of the following about service provided by the regional bank prior 1o its investment in

enhancing that service?

A) It enabled the bank to retain customers at an acceptable rate.

B) It threatened to weaken the bank’s competitive position with respect to other regional banks.

C) It had already been impraved after having caused damage to the bank's reputation in the past.

13) It was slightly superior to that of the bank’s regional competitors.

Section B Skimming & Scanning (10 minutes)
In this section there are six passages followed by ten multiple-choice questions. Skim or scan them as required
and then mark your answer on your Colored Answer Sheet.

[ _TEXTE |

First read the question.
31. Wha is the author’s main purpose in the passage?
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A) Tooffer a criticism of the works of Pearl Buck.

B) To illustirate Pearl Buck”s views on Chinese literature.

C)} To indicate the beckground and diverse interest of Pearl Buck.

D) To discuss Pearl Buck’s influence on the cultures of the East and the West.

Read the text guickly and then answer the question.

One of the most popular literary figures in American literature is a woman who spent almost half of her long life
in China, & country on a continent thousands of miles from the United Stares. In her lifetime she earned this coun-
try” s most highly acclaimed literary award, the Pulitzer Prize, and also the most prefigious [orm of literary recogni-
tion in the world, the Nobel Prize for Literature. Pearl S. Buck was almost a household word throughout much of
her lifetime because of her prolific literary output which consisted of some eighty-five published works, including sev-
eral dozen novels, six collections of short stories, fourteen books of children, and more than a dozen of works of non-
fiction. When she was eighty vears old, some twenty-five volumes were awaiting Publication. Many of those books
were set in China, the land in which she spent so much of her life. Her books and her life served as a bridge between
the cuitures of the East and the West. As the product of those two cultures she became as she described he}'sdf “men-
tally bifocal.” Her unique background made her into an unusually interesting and versatile human being. As we ex-
amine the life of Pearl Buck, we cannot help but be aware that we are in {act meeting three separate people, a wife
and mother, an intemationally famous writer, and a humanitarian and philenthropist. One cannot really get to know
Peal Buck without learning about ezch of the three. Though honored in her lifetime with the William Dean Howell
Medal of the American Academy of Arts and Letters in addition 1o the Nobel and Pulitzer prizes, Pearl Buck as a to-

tal human being, not only a famous author, is a captivating subject of study.

TEXTF |

First read the questions.
32. From this letter we can infer that
A) Martin Walker works for the American government
B) the writer of this letter lives in poverty
C) the president of the United States is a iiar
D) Martin Walker does not present truth in his articles
33. Read the passage we can perceive that the writer of this letter is .
A) angry B) annoyed C) embarrassed D) worried.
Read the text quickly and then answer the questions.

A Letter to the Editor

After reading Martin Walker” s rose-tinted round-up of the year in the U.S. —and all his other essays of the past
few years—! am beginning to wonder if he has fallen under Washington’ s propaganda spell.

Unemployment, he tells us, is 6.4 per cent, quoting federel government figures with awe. He's right,if you
discount the following: a) those who have exhausted their unemployment benefit, avatlable for only six months, and
who are thereafter magically considered to be magically employed; b) the millions who can only get part-time work;
¢) the homeless, estimated by some to be 5 million: d) the millions of Americans who work for the minimum wage,
slave-labor % 4 an hour; e) the millions of illegal immigrants working for $ 2 an hour. Alternative groups, in con-
trast, quote the real unemployment figure at 15 per cent.

In addition, Martin Walker lauds a president who has already forgotien the egalitarianism he preached on the
campaign trail, and who is once again under scrutiny for both character and {inancial lapse.

In his coverage, he all but ignores the true charactenistics of the US—the widening gulf between nch and poor,

the ever-deepening povertly, the catastrophic violence, the drug gangs, the Third Werld cities, the massive political .
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corperate and judicial corruption, and the appalling standard of education.

To read his articles, one would think that the US was poised with confidence 10 meet the challenges of the 21st centu-
ry. Itisn’t. A more likely scenario is a civil war, as the have nots(many of them in possession of the 300 million firearms
in private hands) rise up agains: an establishment which denies them a share of the wealth in his winner-take-all society.

TEXT G|

First read the question. &
34. According 1o the passage which of the following statements is correct?
A} Rhino’s ancestor existed 70 million years ago. B} Triceratops are rhino’s ancestors.
C) Rhinos existed before the extinction of dinosaurs. D) Rhincs are now endangered animals.
Read the text quickly and then answer the question.

An Article in a Newspaper

According to the encyclopedia, the rhinocercs has roamed the earth for 70 million vears. [f “dincsaurs became ex-
tinct about 60 million years, why did the rhinoceros survive? The question as posed clearly indicates that the ques-
tioner has in mind rhinos resembling modern types coexisting with rhino-like homed dinosaurs such as Triceratops. In

fact, rhinos of comparable body size are a relatively recent invertion or, no more than around 35 million years old.

The first animel we can really call rhinoceros’ ancestor appeared in the early middle part of the Eocene Epoch,
around 50 million years ago. However, it is true that the first ungulate hoofed mammal, (a broad group of mammals
including cattle, deer. horse, and elephants, as well as rhinos) dates from earlier times. This animal, rotungulatum,
was originally dated as late Cretaceous, hence giving rise to the presumption that the rhino’s ancestors existed around
70 million years ago, before the extinction of dinosaurs at 65 million years ago.

Today all five species of rhinos are endangered, not only because of the commercial value of rhino horn, but also
because rhinos cannot rebuild populations fast encugh to survive decimation of numbers by either climatic changes or

human intervention.

F L3 h La ol
| TEXT H
First read the questions.
35, According to the passage, this collection of stories were intended _____
A) {or publication orly B for artistic studies C) for adaptation D) for films

36. As far as artistry is concerned, these stories exemplify types of writing besides the diverse range of—modes or
tones, character type and themes.

4 four B) six C) eight D) ten
Read the text quickly and then answer the guestions.

The siories collected here were chosen for adaptation and inclusion in a series of films sponsored by the National
Enduwment for the Humanities. These eight examples of an indigenous American art forrr—the short story—were
selected 1o complement an carlier group of nine stories adapied for film and collected in Volume 1 of The American
Short Story,

These eight complement the earlier nine in a variety of ways. Four of them represent the work of major Ameri-
can authors not included in the earlier group: National Hawthorne, Mark Twain, Willa Cether. and William Faulkn-
er. Four nthers allow us 1o savor the formal perfeciion of the short storv achieved by Katherine Anne Porter; to enjoy
the comic story as developed by Ring Lardner and James Thurber; and to sample contemporary work in the genre by
Ernest J. Gaines. In literary artistry alone, the range here is broad. from the slapdash tale-spinning of *“The Man
Then Corrupred Hadleyburg™ 1 the jewellike craft of “The Jilting of Granny Weatherall”; [rom the casual effeet of
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jeu d’esprit in “The Greatest Man in the World” to the incantatory rhetoric of “Barn Burning”: from the language
colored by gothic melodrama in “Rappaceini* s Daughter” to the highly polished vernacular idiom in “The Golden
Heneymeon” and “The Sky Is Gray. " These eight works also exemplify the diverse range of modes or tones, charac-
ter types, and themes that are expressed in the American short story.

Three of the stories involve such struggle and end in such defeats for their protagonists that we may be tempted
to view them as miniature tragedies. But the young men in the stories by Hawthome, Cather, and Faulkner evoke
instead varying levels of pathos. Were their stations in life more elevated, their plights more conscious, we might
consider their fates tragic. Of the three writers, only Faulkner raises the pitch of his%tory to that of tragic myth.
Colonel Sartoris Snopes's attempt to change his father’ s destructive pattern of vengeance, even if he must destroy
him to do so, takes on the aura of an archetypal struggle between son and father and between two culture systems.
Both of these struggles have antecedents in tragedy. In contrast, Hawthorne's Giovanni ard Cather’s Paul remain
100 unconscious of their own flaws, of their own motives, and of their own participation in creating the traps that de-

stroy them for us 10 consider them hemic.

I TEXT 1
First read the questions.
37. The Clubhouse is a .
A) well known landmark B) public facility () retreat for artists D) very large estate

38. Compared to the Academy’s membership, the members of the Institute are ____

A) easily selected B) more artistic ) common people D)} very reserved
Read the text quickly and then answer the questions.

A Club Within a Club Where Creativity Elicits Rich Rewards

Way up in New York City’s Washington Heights stands the most palatial, prestigious, exclusive—and ob-
scure—clubhouse in America. There are only 250 members in this club. They pay no dues or admission fees. Their
meals and drinks are free. . . Altogether, it is a very nice deal.

As you might expect, this is pot an easy club to join. Members are elected by a procedure so labyrinthine that it c'?uld
have been invented 10 confound some hero out of Greek mythalogy. It s amazing that anybody gets elected at all. . .

But this very exclusive club of 250 members seems compased of hot polloi compared with its even tinier sister or-
ganization. For within this club there is a superclub with only 50 members, every one of whom must be chosen from
the membership of the “big” club. . .

These two clubs. . . are nch in esteemn and history, they have plenty of money. they pay no taxes. they host ele-
gant {reebie dinner partics, they give away all kinds of prizes and awards—and vet nobody ever hears of them. Most
people don’t even know they exist.

Welcome to the American Academy and Institute of Arts and Letters. The Academy is the elite superclub of 50
members. The Institute is the rowdy big club of 250 members. ..

Aside {rom perpetuating itself, its sole purpose. . . is to "foster, assist and sustain an interest” in literature, mu-

sic and art. . .

[ TEXTJ |

First read the questions.

39. It is about applicants will go abroad to study.
Al 32% B) 27% C) 56% D) 65%
40). There are about _ persons go abroad to study agriculture.
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A} 140 B) 100 C) 155 D) 125
Read the text quickly and then answer the questions.

Nearly 1 400 Chinese will be able 1o study abroad with government aid, after success{ully competing under a
new, open system on government-supported overseas study, China Education Daily reported yesterday.

The 1 399 people, representing more than 700 work units nationwide and from all walks of life, are the first
students to win the honour.

They came from almost all provinces, autonomous regions, and municipalities, except Taiwan.

According to the newspaper, which announced the results on the front pagévesterday, they will be sent 1o study
in 53 couniries after signing agreements with the State Fourdation for Overseas Study, a governmental organ which
will fund their study abroad.

All those selected this yvear will be visiting scholars, including 28 per cent who will be senior scholars. Of the
group members, 68 per cent already have earmned master’s degrees, the report said.

Thirty-five per cent will study engineering, the most pepular choice and 19 per cent will study human and social
science. The percentages of people to study medicine, science, agriculture and economic management are 14 per
cent, 13 per cent, 10 percent, and 7 per cent respectively. .

China launched the new system early in January 1o encourage “fair competition” in selecting excellent students
for overseas study.

Under the new system, applicants are evaluated by experts organized by the foundation and are finally selected
by the State Education Commission.

They are required to sign agreements with the administrative committee of the foundation 1o China. Those vio-
lating ‘he agreements must pay compensation.

Acearding to the newspaper, the new policy was highly welcomed and supported by society, since it was an-
nounced in January. Thousands of people all over the country asked for the application forms.

Alrnost 2 500 applicants eniered the competition, after prior evaluation at specially established offices in local
provinces, autonomous regions, municipalities as well as the Beijing-besed ministries.

Experts remarked that the new svstern was successful because it offered a fair chance to those interested in en-
hancing their credentials by studying abroad.

In the past. the only way one could get government financial aid to study abroad was by applying for one of the

. . .. . . . . P N L]
limited opporiunities distributed under a highly planned system, which was not fair enough.
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PAPER TWO
TIME LIMIT :120 MIN.

Part [y Translation (60 minutes)
Section A Chinese to English 2

Translate the following text into English. Write your translation on ANSWER SIHEET THREE.

MESLRRAUSHAMNBAEE, #PHUHRNE, NBLGSE, CELRALREEEARNERE
B, Hu, HE Kk ER IR AODBK FERY ERZE.SHETNEAENACE, XBELSHNR
E5EZR. "ES5EAEREAERARE, BE—RIBEXABROEZ LA T BMFE, ANTEERE
FEEXRANMESEARBIEN, PENANMARBERESENTESEMNWEM L FREASTERE
MM ASEBRRMAR—E, ANTEE5ZRNESEIHH TR,

Section B English to Chinese

Translate the following text into Chinese. Write your translation on ANSWER SHEET THREE.

On average, kids fare better in two-parent families. But a sizable percentage of children in single-parent fami-
lies thrive, and many in two-parent families do not. What matters most—regardless of family structure—is what
happens within the family.

Particularly important is the family’s ability to support and nurture, minimize conflict, practice democratic
decision making, set and enforce boundaries, provide consistent and positive forms of discipline and model, and
encourage values of caring and responsibility. Families should also provide access to structured activities (e. g.
church participation, clubs, organizations, lessons) and a stimulating environment for learning  including parental
involvement in schooling).

While it is sumewhat easier to deliver these in two-parent families, some single-parent families do succeed by
drawing on informal and formal support systems from neighborhoeds, schools, and churches. Qur challenge is to
discover ways to maximize the number of strong two-parent families and support all family efforts to raise healthy
children, including efforts by single-parent families. o

Part V Writing (60 minutes)
There is an old proverb that says “No gains without pains. " Do you agree or disagree with this view? Support
vour opinion with specific example from your personzl experience, vour ohservation of others, or your reading.
Requirement
Write an essay of about 300 words.
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ANSWER SHEET ONE

TEST FOR ENGLISH MAJORS
—GRADE EIGHT—

PART | LISTENING COMPREHENSION SCORE
SECTION D Note-taking & Gap-filling MARKER




ANSWER SHEET TWO

TEST FOR ENGLISH MAJORS
—GRADE EIGHT—

PART I PROOFREADING AND ERROR SCORE

CORRECTION MARKER




ANSWER SHEET THREE

TEST FOR ENGLISH MAJORS

—GRADE EIGHT—
L
PART [V TRANSLATION SCORE
SECTION A Chinese to English MARKER
SECTION B English to Chinese SCORE | "

MARKER




ANSWER SHEET FOUR

TEST FOR ENGLISH MAJORS
—GRADE EIGHT—

PART V. WRITING SCORE
MARKER




